L 8p | weloy

¥Z0Z/S0/Z0 ‘NOIOVHORYE 30 YHO34

OL3IN SIVATYIN OWISINO ")

SVZNVNI4 A NOIOVHLSININGY "MIO

S0/0L/B0INIOISO

VOUINDI4 VIJNVD TNEVYO HVSID J0Nd

-

30I4NOW TYHINIO ¥OLOFNIO

SYZIN AVRIVLIINOISS
—— P
&
. & 4
ﬁq;r.ue. 69'E0L'9¥Z 65°€62'80Z L9'88)'e52 00’0 L9'881'EST 0LSVO 130 V1oL
00'0 000 000 000 000 000 seuopedioped
000 000 000 00'0 000 00'0 sauopE|gnr A seuojsuag
06'Z€E" 12~ 06°Zee' Lz 06'228'v¥ 00'061'€2 00°0 00°08L'€Z |eydeg ep o1seH
86'222'9 69'0.L'e2z 69'0L2'¢22 19'866'622 000 29'866'622 8juawio oisen
ty-glag L] v (Eeb)ug T [}
83INOIONA3N
oI1083r3ENS oavevd 0avoN3AIa 0avolAaon A SINOIOVIIANY 0avEoNdY 0Ld39N0D
§0s83yO3 L
$20Z 30 ON3ANST 30 L€ TV ONIANI 3Q L q3a 6507 SYNIMVYH 23d31v0D

(0LSV9O 30 OdIL ¥0d) YOINONOI3 NOIDVIILISY1D

SO0S3X93 30 0LSINANSIN 130 019198313 130 OJILITYNY Oav.is3



